Total Production 1,266,575 2,026,520 805 10,721 11,526	lbs. lbs. cords	Gross Farm Value \$696,616 \$101,326 \$797,942
2,026,520 805 10,721	lbs. cords	\$101,326
2,026,520 805 10,721	lbs. cords	\$101,326
805 10,721	cords	· · · · ·
10,721		\$797,942
10,721		
10,721		
10,721		
,	cords	
11,526		
86,402	board feet	
3,710,989	board feet	
3,797,391		
		\$2,399,504
		\$1,339,203
		\$2,399,504
		. , ,
125	pints	\$125
	*	\$938
250	bu.	\$7,500
800	bu.	\$9,600
3,000	flats	\$27,000
		\$45,163
		,
1,562,772	bu.	\$3,547,492
		\$1,792,481
		\$5,339,973
	3,710,989 3,797,391 125 750 250 800 3,000 1,562,772	86,402 board feet 3,710,989 board feet 3,797,391 125 pints 750 lbs. 250 bu. 800 bu. 3,000 flats 1,562,772 bu. 496,532 cwt.

Page 1 of 8

		PLANT ENT	<u> TERPRISES</u>	PRODUCTIO	DN		
Crop	Number of Producers	Acres	Yield per Acre		Total Production	Units of Measure	Gross Farm Value
GREENHOUSE VEGETABLE							
Tomatoes	*	2,880.0	5.00	Yield / sq. ft.	14,400	lbs.	\$19,440
Greenhouse Vegetables (Total)		2,880.0					\$19,440
HAY FOR SALE							
Grass	55	6,500.0	5.00		32,500	tons	\$1,625,000
Hay for Sale (Total)		6,500.0					\$1,625,000
HOME GARDENS	11,000						\$3,300,000
NURSERY CROPS							
Floraculture & Bedding	6					acre	\$25,000
Plants							
Woody Ornamentals	*					acre	\$2,000,000
Nursery Crops (Total)							\$2,025,000
PECANS							
Improved	21	280.0	200.00		56,000		\$72,800
Native	300	1,110.0	200.00		222,000	lbs.	\$222,000
Pecans (Total)		1,390.0					\$294,800
RICE	65	24,899.0	55.00		1,369,445		\$10,955,560
SOYBEANS	85	77,626.0	23.00		1,785,398	bu.	\$11,087,322
SUGARCANE							
Raw Sugar	18	17,817.0	3,990.00		71,089,830		\$8,637,414
Molasses		17,817.0	120.00		2,138,040	gal.	\$310,016
Sugarcane (Total)		17,817.0					\$8,947,430
SWEET POTATOES							
Canning					116,269		\$232,538
Fresh					142,106		\$1,989,484
Sweet Potatoes (Total) VEGETABLES	6	975.0	265.00		258,375	bu. (50 lbs.)	\$2,222,022
Beets	*	1.0	200.00		200	doz. bunches	\$1,400

Page 2 of 8

	PLANT ENTERPRISES PRODUCTION							
Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value		
VEGETABLES								
Broccoli (Fresh)	*	5.0	188.00	940	cartons (20 lbs.)	\$14,100		
Cabbage								
Fresh	*	20.0	488.00	9,760	sacks (50 lbs.)	\$68,320		
Cabbage (Total)		20.0				\$68,320		
Cantaloupe	*	4.0	158.00	632	cartons (40 lbs.)	\$9,480		
Carrots	*	0.5	225.00	112	doz. bunches	\$784		
Cauliflower	*	2.0	185.00	370	cartons (20 lbs.)	\$5,550		
Collards					,			
Fresh	*	1.0	445.00	445	doz. bunches	\$3,115		
Collards (Total)		1.0				\$3,115		
Cucumber								
Fresh	*	5.0	150.00	750	bu. (50 lbs.)	\$7,500		
Cucumber (Total)		5.0				\$7,500		
Eggplant	*	2.0	150.00	300	bu. (33 lbs.)	\$4,500		
Garlic	8	2.0	5,400.00	10,800	lbs.	\$43,200		
Irish Potatoes								
Fresh	8	15.0	150.00	2,250	cwt.	\$78,750		
Irish Potatoes (Total)		15.0				\$78,750		
Lima Beans								
Fresh	*	2.0	75.00	150	bu. (32 lbs.)	\$5,250		
Lima Beans (Total)		2.0				\$5,250		
Mustard (Fresh)	10	10.0	600.00	· · · · · · · · · · · · · · · · · · ·	doz. bunches	\$42,000		
Okra (Fresh)	24	20.0	300.00	6,000		\$150,000		
Green Onions	6	3.0	2,500.00	7,500	lbs.	\$15,000		

Page 3 of 8

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Parsley	*	0.5	1,200.00	600	doz. bunches	\$4,200
Peppers						
Banana	*	0.5	350.00	175	bu. (25 lb.)	\$2,625
Bell	*	3.0	500.00	1,500	bu. (28 lb.)	\$22,500
Peppers (Total)		3.5				\$25,125
Pumpkin - Cushaw	*	1.0	100.00	100	cwt.	\$2,000
Radish	*	0.5	1,200.00	600	doz. bunches	\$4,200
Shallots	*	5.0	1,100.00	5,500	doz. bunches	\$33,000
Snap Beans (Fresh)	6	10.0	113.00	1,130	bu. (30 lbs.)	\$28,250
Southern Peas (Fresh)	6	10.0	80.00	800	bu. (24 lbs.)	\$20,000
Squash (Fresh)						
Yellow Squash	*	4.0	150.00	600	bu. (45 lbs.)	\$9,000
Zucchini Squash	*	1.0	150.00	150	bu. (45 lbs.)	\$1,800
Winter Squash	*	0.5	110.00	55	bu. (45 lbs.)	\$825
Squash (Fresh) (Total)		5.5				\$11,625
Sweet Corn (Fresh)	15	50.0	600.00	30,000	doz. ears	\$105,000
Tomatoes (Field)	10	10.0	850.00	8,500	lugs (20 lbs.)	\$153,000
Turnips (Fresh)	10	5.0	435.00	2,175	doz. bunches	\$15,225
Watermelon	8	10.0	150.00	1,500	cwt.	\$12,000
Vegetables (Total)		203.5				\$862,574
WHEAT	22	12,141.0	60.00	728,460	bu.	\$2,367,495
TOTAL ALL PLANT ENT	ERPRISES	,				\$52,289,224

	FISHERIES & WILD	LIFE ENTE	<u>RPRISES PRO</u>	DUCTION		
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	100	10,000	Acres in Prod.	7,000,000	lbs.	\$4,200,000
Catfish (Farm)	*	400	Acres in Prod.	1,200,000	lbs.	\$816,000
Aquaculture (Total)						\$5,016,000
FRESHWATER FISHERIES						
Crawfish (Wild) **	30			398,985	lbs.	\$218,883
Freshwater Finfish **	24			991,709	lbs.	\$280,356
Freshwater Fisheries (Total)				-		\$499,239
FUR ANIMALS				591	pelts	\$4,338
ALLIGATORS (WILD)				675	-	\$14,175
HUNTING LEASES						
Waterfowl	20	5,000	No. Acres		acre	\$250,000
			Leased			
All Other Game	50	125,000	No. Acres		acre	\$687,500
			Leased			
Hunting Leases (Total)						\$937,500
HONEY	8	1,200	No. Hives	100,000	lbs.	\$74,000
TOTAL ALL FISHERIES & W	VILDLIFE ENTERPRISES	,		,		\$6,545,252

** The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION					
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves 300-400 lbs.			2,840	head	\$1,257,808
400-500 lbs.			2,335	head	\$1,178,731
					Page 5 of 8

	ANIMA	AL ENTERPRISES PRODUCTIO	N		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
500-600 lbs.			680	head	\$380,171
600-700 lbs.			100	head	\$63,700
Steer Calves (Total)					\$2,880,410
Heifer Calves					
300-400 lbs.			2,830	head	\$1,140,957
400-500 lbs.			2,340	head	\$1,088,276
500-600 lbs.			680	head	\$358,928
600-700 lbs.			90	head	\$53,820
Heifer Calves (Total)					\$2,641,980
Yearling Cattle					
600-700 lbs.			260	head	\$165,620
700-800 lbs.			180	head	\$124,200
Yearling Cattle (Total)					\$289,820
Cow-Calf Pairs			3,480	pair	\$3,306,000
Cull Cows			1,225	head	\$503,028
Cull Bulls			475	head	\$436,264
Cattle & Calves (Total)	480	13,400 No. Cows			\$10,057,502
DAIRY					
Dairy Cows					
Milk	*	212 No. Adult Cows	2,263,858	pounds	\$373,084
Bred Heifers			2	head	\$3,000
Adult Cows			6	head	\$7,500
Cull Cows			55	head	\$30,938
Bull Calves			108	head	\$6,480
Dairy Cows (Total)					\$421,001
Dairy (Total) HORSES					\$421,001

ANIMAL ENTERPRISES PRODUCTION

Page 6 of 8

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production		Value
HORSES						
Brood Mares						
Race Horses	30	225	No. Brood Mares	225	head	\$1,800,000
Show Horses	24	40	No. Brood Mares	40	head	\$140,000
Recreation Horses	250	1,800	No. Brood Mares	900	head	\$1,350,000
Brood Mares (Total)						\$3,290,000
Stud Fees						
Race Horses		300	No. Stallions	250	mares bred	\$500,000
Show Horses		40	No. Stallions	35	mares bred	\$52,500
Recreation Horses		75	No. Stallions	300	mares bred	\$60,000
Stud Fees (Total)						\$612,500
Race Horses	75			300	head	\$3,000,000
Show Horses	25			40	head	\$160,000
Recreation Horses	475			750	head	\$1,125,000
Horses (Total)						\$8,187,500
SHEEP						
Wool		1,200	No. Sheared	8,400	cwt.	\$2,352
Slaughter Lambs				850	head	\$103,594
Feeder Lambs				120	head	\$7,200
Show Lambs				5	head	\$1,375
Stocker Sheep				40	head	\$3,000
Cull Sheep				400	head	\$22,000
Sheep (Total)	65	1,200	No.Breeding			\$139,521
			Ewes			
GOATS						
Slaughter Goats					head	\$26,250
Stocker Goats				40	head	\$3,400
Cull Goats				50	head	\$3,000

ANIMAL ENTEDDDICEC DDODUCTION

Page 7 of 8

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
Goats (Total)	10	250 No. Does			\$32,650		
SWINE							
Show Pigs			7	head	\$2,310		
Slaughter Hogs			4,000	head	\$624,000		
Culls			800	head	\$89,600		
Swine (Total)	40	No. Sows			\$715,910		
TOTAL ALL ANIMAL	ENTERPRISES				\$19,554,084		
ST. LANDRY PARIS	SH TOTAL				\$78,388,561		
					φ/0,500,5		